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���� .HVLPSXODQ

%HUGDVDUNDQ�GDUL�SHPEDKVDQ�\DQJ�GLEXDW�VHEHOXPQ\D�GLGDSDWNDQ�NHVLPSXODQ�

GDUL�SHQHOLWLDQ�LQL�VHEDJDL�EHULNXW�

�� %LD\D� \DQJ� GLEXWXKNDQ� XQWXN� SHODNVDQDDQ� UDQJND� DWDS� EDMD� ULQJDQ� DGDODK�

VHEHVDU�5S������������� GDQ�GHVDLQ�\DQJ�GLEXDW�ROHK�SHQHOLWL�DPDQ�XQWXN�GLSDNDL�

VHEDJDL�GHVDLQ�UDQJND�DWDS�

�� %LD\D�SHODNVDQDDQ�SHNHUMDDQ�UDQJND�DWDS�ND\X�VHEHVDU�5S��������������� OHELK�

PDKDO�GLEDQGLQJNDQ�SHODNVDQDDQ�SHNHUMDDQ�UDQJND�DWDS�EDMD�ULQJDQ�\DQJ�KDQ\D�

VHEHVDU�5S����������������3HODNVDQDDQ�SHNHUMDDQ�EDMD�ULQJDQ�OHELK�PXUDK�������

GLEDQGLQJNDQ�SHODNVDQDDQ�SHNHUMDDQ�ND\X�

�� %LD\D� VLNOXV� KLGXS� EDQJXQDQ� PHQJJXQDNDQ� EDMD� ULQJDQ VHEDJDL� UDQJND� DWDS

GLGDSDWNDQ VHEHVDU� 5S�� ���������������� OHELK� PXUDK� GLEDQGLQJNDQ� \DQJ�

PHQJJXQDNDQ�UDQJND�DWDS�ND\X \DLWX VHEHVDU 5S������������������� %LD\D�VLNOXV�

KLGXS� EDQJXQDQ� PHQJJXQDNDQ� UDQJND� DWDS� EDMD� ULQJDQ� OHELK� PXUDK� ������

GLEDQGLQJNDQ�PHQJJXQDNDQ�UDQJND�DWDS�ND\X�

���� 6DUDQ

$GDSXQ� VDUDQ� \DQJ� GDSDW� GLEHULNDQ� SHQHOLWL� XQWXN� SHQHOLWLDQ� VHODQMXWQ\D�

EHUGDVDU�SHQHOLWLDQ�LQL�DGDODK�VHEDJDL�EHULNXW�

�� 3HQHOLWLDQ VHODQMXWQ\D� GLVDUDQNDQ� PHQJDPELO� DWDX� PHPLOLK� REMHN� SHQHOLWLDQ�

\DQJ�PHPLOLNL�GDWD�SUR\HN� OHQJNDS�DJDU� WLGDN�SHUOX� DGDQ\D�ZDZDQFDUD� \DQJ�

EHOXP�SDVWL�EHQDU VHFDUD�VSHVLILN GDQ�DVXPVL�GDODP�DQDOLVLVQ\D�

�� 3HQHOLWLDQ VHODQMXWQ\D� GLVDUDQNDQ� PHQJDQDOLVLV� DOWHUQDWLI� PDWHULDO� ODLQQ\D�

VHSHUWL� EDMD� SURILO� �NRQYHQVLRQDO�� DWDX� SHODW� EHWRQ� DJDU� ELVD�PHPEDQGLQJNDQ�

PDQD�\DQJ�OHELK�EDLN�ODJL�DQWDUD�VHPXD�DOWHUQDWLI�\DQJ�DGD�VDDW�LQL�

�� 3HQHOLWLDQ VHODQMXWQ\D� GLVDUDQNDQ� PHODNXNDQ� SHUKLWXQJDQ� OHELK� GHWDLO� WHUNDLW�

ELD\D� VLNOXV� KLGXS� NDUHQD� SDGD� SHQHOLWLDQ� LQL� DQDOLVLV� ELD\D� VLNOXV� KLGXS�

GLODNXNDQ�EHUGDVDU�NHMDGLDQ�DWDX�ELD\D�GL�ODSDQJDQ�


